PROGRESS SELF-TEST

pp. 488-489

1. perimeter = 2(15 + 40) = 2(55) = 110 units
2. area = 2+ 80 - 210 = 8400 units’

3. area = %h(a +¢)

4. perimeter = 6s
q=6s

q.-
6= S
length of a side = g

S.Area=/-w
200 = 25w
S§=w
width = 8 m

6. Area = 11, + by)

48=1.609+by)
48 =39 + b,)
16 =9+ b,
7=b,
The length of the other base is 7 units.
7. a. circumference = wd = 12w in.
area = worl = w6’ = 36mwin’
b. circumference =~ 38 in
area = 113 in*

8. a. length of CD = % * (Cwcumference of ©0)
= 3+ 40m = 5 = 15.7 units
b. Arca(shaded sector) = % - (Arca of ©0)
=3+ 207 7 = S0m = 157 units’
9. (WY) + (WX)? = (YX)
9% + (WX)y =417
81 + (WX)* = 1681

(WX)* = 1600
WX = J1600 = 40 units

10. length of hypotenuse
=202+ 212 = 841 =29
penmeter = 20 + 21 + 29 = 70 units
11.a. Yes
b. 112 + 602 = 121 + 3600 = 3721;
612 = 3721; since 112 + 607 = 612, itis a
nght tmangle by the Pythagorean Converse
Theorem.

13. Area(shaded region)
= Area(EFGH) — Area(®A)
=12 —7-6>= 144 — 36w
= 144 — 36(3.14) = 30.96 units
14. a. The perimeter is multiplied by 4.
b. The area is multiplied by 42, or 16.
15. The outside perimeter of the frame is
2(16 + 21) = 2 - 37 = 74 inches.
16. ° + 182 =352
+324=25
x?=21.76
x=421.76=4Tm
The ladder will reach 4.7 meters up the wall.
17. Area(circle with r = 80 miles) = m - 802
= 64007 = 20,100 square miles
18.9ft =3yd; I5ft = 5yd
Area(room) = 3yd-Syd = 15 sq yd
So 15 sq yd of carpeting are needed.

19. Penimeter = 4s

2640 = 4s
660 = s
Arca=52= 2=435.6w5qf‘
I — Arca(bull's-cye)
20. Probability(bull's-eye) = Area(target)

=_'—,=T=—oraboul 11%

t

Area(tnangle) = % *9+ 1 = 435 square umts

22, Area = 9(11) = 3(3) = 34 =99 -9 - 12
= 78 units



